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Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5
oS AT e e for

(a) Distinguish between univariate and
bivariate data.
GFF-5e1 0 HE 3-5ee ©UY[ e A1
feram |

(b) If Ais a certain event associated with a
random experiment, then P(A) is equal
to

( Fill in the blank )

3t A, TS [ GBR Fore 1 Fife T
2, (992’0 P(A)-T I 37 |

(<@ & o7 1)
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(2)

(c) Ifr =1, then the two lines of regression
are
MW r =41, (SCR'TA FHREG (&9 O 2]

(i) coincident

LIS

(i) parallel
SIEFE

(i) perpendicular to each other
4 £ e G

(iv) None of the above
@[T OIS 2
( Choose the correct option )

( m st Afz Sferear )

(d) Lockout in a factory for a month is
associated with which component of a
time series?

9Bl FRAES 9AE 4R Gofl ARl SREICH!
PN T THE T oW ?

() What are the different kinds of error
associated with tests of significance?

LT ARHR AT Gfve ffen 2o @
& fF 2
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wore Al ePPTYRY Ted fo

(a) Define null hypothesis.
@ aog i fr |

{b) Mention two properties of Karl Pearson’s
correlation coefficient.

S Picraee T @ o o SeEy
Salll

(c) 1If A and B are two events, not mutually
exclusive, connected to a random

experiment and
PA) =1, PB)=2and PALUB) =1
4 S 2

then find the value of P(An B).

i A SIF B 951 A0RS w9 Te 1
w51, i oo Rafdre w2, o

1
4
(@ P(AN B)3 T4 fefa 541 |

1

P(A) = 5

,P(B)=%W PlAUB) =

(d) What do you mean by skewness?
ST Jfercal 6 @i 2

(e) Find the harmonic mean of 2, 3 and 5.

2, 3 9F 59 2NT T fefg 1 |
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(4)

3. Answer any four of the following questions :
5x4=20

wors firl 2ppiRd R e SRR T foret -

(a) The AM and GM of two numbers are 9
and 7-2 respectively. Find their HM and

also the numbers.
T61 SR TG MY 9 R BCTST A 7-2.
SR PR [ T4 AT T = 1w qors
fAdg w11

(p) Find the missing frequency for the
following data whose median is 24 :
woq B *[1 ¢ IRKR! 4T 71, T F40

24 3f T =R :
Class Interval Frequency

TR IR
0-10 5
10-20 25
20-30 ?
3040 18

40-50 7

(¢ What is time series? Give two examples
of time series data. What are the

different components of time series?
1+2+2=5

e fo 7 FE ©UR B Tread
TR Rfew Toenszhl [ 62

(d) State the mathematical definition of
probability. Also mention its drawbacks.

3+2=5
sofRed affes SkE R @RS W
SPRYPTIR Ty 9 |
( Continued )
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(e)

(9

(5)

What is sample survey? Distinguish
between sample survey and census

survey.
of e 5Tt R 2 2Aford S SF o S
ofSq “NYFPIR T 1

What is Poisson probability distribu-
tion? Write down the basic features of

this distribution. 243=5

o5 IR 357 327 @ IBW T &RErTR
e
Calculate Karl Pearson’s correlation

coefficient from the data given below :

To OYF o[l T IR TOTE 8F
fadfg 1 -

x 1 2 3 4 5 6 7
y : 3 5§ 6 8 10 11 13

(h) Given (1 SICR)

x Y
Arithmetic Mean 36 85
b SRR
Standard Deviation 11 8
¥3 o

Coefficient of correlation between x and
y=066

x 9 yI T TR BT = 0:66

Find the regression line of y on x.

x ¥ @S yT T SR ey T 01

2+3=5
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(6)
4. Answer any one of the following questions : 10'/:->LC i %
N o

wore i 2R R e QbR T fore (53/

(a) (i) Define correlation between two t<$
variables. Explain different types of 1 3
correlation with examples. 2+426.

7 R WS el el fo |
Trreaepz Rfen aF=a s/=orEa e 49 |
(i) Given (fr SCR)
n=15,x=257y=18, X(x—-Xx) =136, {
Yy-y) =138, Xx-X)y-y)=122
Find r,y,. 4
oy T Ff 0

(b) (i) From the data given below,
calculate the trend using 3-yearly
moving average method : 7
3-qERF beE T wfOd RES W
IR [T 2o T AT 0

Year | Sale (in thousand ?) Year | Sale (in thousand ¥)
g | AF (EE 5Ire) ®F | R (wE )
2001 5 2009 13

2002 i 2010 17

2003 9 2011 19

2004 2 2012 14

2005 11 2013 13

2006 10 2014 12

2007 8 2015 15

2008 12
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(7))

(i) Write a short note on any one of the
following :

oK R PR G5 6°R® B T o1 -
(1) Seasonal variation

Apfd STl
(2) Uses of time series analysis

el ReRR 929

(i) What is the probability that a
non-leap year selected at random
has 53 Saturdays?

IMfeged ARM T 9o e, R/ fEe
TR w7, 5305 AfRWR PR R
o 2

(ij) State three properties of normal
distribution.

A 359 fofor «5f foram |

(iii) Two dice are thrown simul-
taneously. Find the probability that
the sum of the faces is not less
than 9.
w51 ol Greeee! e 91 2 | [
quafie dfeFem @ RIF AT
gelF AR il [T |

3
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i o i
\5/!_ ¥ ,h
o7 B\
Q <\ ( 8 )
< & 1
{4
.~ (d) () /From the data given below,
\-\ / calculate mean and variance : 3+4=7
Ooq B9 {1 @S Y HF SRS A
et =
Profit (X in lakh) No. of Companies
T (=714 5F1S) I 37530
20-30 30
3040 58
40-50 62
50-60 85
60-70 112
70-80 112
80-90 57
90-100 26

() Write a short note on any one of the
following : 3

o R (I GBI 6+ 5 (Bl foray

(1) Simple  random sampling
method

R A foe Tl 2= e

(2) Test of significance

el o[

(3) Scatter diagram
Ao fog

* & &
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